Chem 1984 Marathon problem #2
Let the Punishment Fit the Crime  5 points

Due Monday 16 September 2013 by 4 PM

(no electronic submissions will be accepted)

Your name: _______________________________________________
 H emission lines are recorded by NASA’s orbiting Hubble Space Telescope while studying the light emanating from the Cygnus 4 star cluster.  

 Determine1 the H emission lines for the observed wavelengths below, e.g., determine what the initial and final quantum numbers (n​initial and nfinal) are for all the lines assuming Bohr’s theoretical relationship for H atoms in equation 1, which connects emission line wavelength, (, with initial and final quantum states ninitial and nfinal. 
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*Relative%  intensity is the estimated strength of the signal versus the strongest line in the observed set (at 121.51 nm). 
1 This is a spectroscopist’s guessing game ’ known as “line assignment”. Trial and error is involved. Remember that ninitial  must be higher than nfinal since this is a set of emission lines.

